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B3 —2 FEMICHERATHILBESNOERICEIHEE (1/2) _ _ _ EJEJEEJE_ | ERR18FE
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ﬁi’; TREOBEBOSILEHOKRES TERFDOHBEEILNOKRES TEFEOBEBOEILHOKRES TREOHBESEILADKES
R o | BT e | B2 | e | e | B2 | B TR e | B2 | T | & | T
’ 100kN/mM%#BZ 5% -l -~ - -|3mEBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
s 1.00]0.00 ~ 4.61 5747 #hLlst | 000 ~ 461| 1.89 10.10 s 1.00f 500 ~ 5.04 5747 #hls | 500 ~ 504 1.89 10.10
9 100kN/mM##BZ 5 -l -~ - -|3mEBZ 5 -~ - - —-| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
s 1.00]0.00 ~ 6.51 82.04| #h L4t 1000 ~ 6.51| 1.72 9.22 s 1.00f 500 ~ 7.75 82.04| #hLl4+ | 5.00 ~ 775 1.72 9.22
3 100kN/mM%#BZ 5 -l -~ - -|3mEBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
s 1.00]0.00 ~ 6.31 79.30| #h L4t 1000 ~ 631 1.99 10.67 s 1.00f 500 ~ 8.35 79.30f #hLlst | 500 ~ 835 1.99 10.67
4 100kN/mM%#BZ % -l -~ - -|3mEBZ 5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
ZHnLs 1.00/0.00 ~ 6.84 86.49| =hLlst |0.00 ~ 6.84] 2.70 14.45 s 1.00f 500 ~ 12.00 86.49| =hLl4t | 5.00 ~ 1200 2.70 14.45
5 100kN/mM%#BZ % -l -~ - -|3mEBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
zh st -l -~ - -| Fhiist -~ - - - st - -~ - -| Zh st -~ - - -
6 100kN/mM%#BZ % -l -~ - -|3mEBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ B -~ - - -
zh st -l -~ - -| Fhiist -~ - - - st - -~ - -| Zh st -~ - - -
7 100kN/mM%#BZ 5 -l -~ - -|3mEBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
s 1.00/0.00 ~ 7.14 90.75| #h L4t |0.00 ~ 7.14| 2.66 14.25 s 1.00f 500 ~ 1239 90.75| #h 4t | 5.00 ~ 1239 2.66 14.25
8 100kN/mM%#BZ % -l -~ - -|3mZEBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
s 1.00]0.00 ~ 7.11 90.39| #h L4t | 000 ~ 711 2.76 14.77 s 1.00f 500 ~ 13.93 90.39| #hLlst | 5.00 ~ 13.93| 2.76 14.77
9 100kN/m##8 %% 1.00{0.00 ~ 0.62 109.27| 3m%x#B 25 -~ - - —| 100kN/mM%#B % % 1.00{ 12.37 ~ 14.42 109.27| 3m%x#B 25 -~ - - -
s 1.00]0.62 ~ 8.41 100.00f Zhlst |0.00 ~ 8.41] 251 13.43 s 1.00f 500 ~ 1237 100.00f Z=hlst | 5.00 ~ 1442| 2.51 13.43
10 100kN/m##8% % 1.00{0.00 ~ 0.82 112.28| 3m%x#B2 5% -~ - - —| 100kN/mM%#8 % % 1.00{ 11.00 ~ 13.84 112.28| 3m%x#B 25 -~ - - -
s 1.00]0.82 ~ 8.61 100.00f Z=hkl4t |0.00 ~ 8.61] 2.05 10.97 s 1.00f 500 ~ 11.00 100.00f Z=hl4t | 5.00 ~ 13.84] 2.05 10.97
» 100kN/mM%#BZ 5 -l -~ - -|3mEBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
s 1.00/0.00 ~ 7.38 94.21| Zh L4t | 000 ~ 7.38| 2.72 14.55 s 1.00f 500 ~ 14.14 9421 Zhlst | 5.00 ~ 14.14| 2.72 14.55
12 100kN/m##8% % 1.00{0.00 ~ 1.00 115.02| 3m%x#B 25 -~ - - —| 100kN/mM%#BZ % 1.00{ 10.75 ~ 14.09 115.02| 3m%x#B 25 -~ - - -
ZHnLs 1.00/1.00 ~ 8.78 100.00f Z=hkl4t+ |0.00 ~ 8.78] 2.09 11.18 s 1.00f 5.00 ~ 10.75 100.00f Z=hl4t | 5.00 ~ 14.09] 2.09 11.18
13 100kN/m##8% % 1.00]0.00 ~ 1.01 115.15| 3m%x#B 25 -~ - - —| 100kN/mM%#2 % % 1.00{ 10.77 ~ 14.17 115.15| 3m%x 825 -~ - - -
s 1.00]1.01 ~ 8.79 100.00f Z=hki4t |0.00 ~ 8.79] 2.09 11.16 s 1.00f 5.00 ~ 10.77 100.00f Z=hl4t | 5.00 ~ 1417 2.09 11.16
1 100kN/mM%#BZ % -l -~ - -|3mEBZ5 -~ - - —-| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
zh st -l -~ - -| Fhiist -~ - - - FhLst - -~ - -| Zh st -~ - - -
15 100kN/m##8% % 1.00{0.00 ~ 1.09 116.35| 3m%x#B=x 5% -~ - - —| 100kN/mM%#BZ % 1.00{ 10.75 ~ 14.04 116.35| 3m%x {825 -~ - - -
s 1.00]1.09 ~ 8.87 100.00] Zh st 1 0.00 ~ 8.87| 2.30 12.29 s 1.00f 500 ~ 10.75 100.00] Zh Lot | 500 ~ 14.04] 2.30 12.29




